Microeconomics 341 – Matthew Baker

Practice Problems 5 – Market equilibrium
I.
Comparing competition and monopoly part I
Consider a monopolist that produces according to the cost function given by: 
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. Suppose further that the demand function for the product is described by: 
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1. Find the monopolist’s marginal revenue function and marginal cost function.

2. Find the monopolist’s profit maximizing price and output combination.

3. Suppose instead that the firm behaved competitively. What would its output and price be? (Remember how you can use the marginal cost function as a supply function)

4. What is then the deadweight loss due to monopoly? 

5. Display graphically the monopoly solution, the competitive solution, and the deadweight loss due to monopoly. 

II.
Comparing competition and monopoly part II
Consider a monopolist that produces according to the cost function given by: 
[image: image3.wmf]Q

Q

c

10

)

(

=

. Suppose further that the demand function for the product is described by: 
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6. Find the monopolist’s marginal revenue function and marginal cost function.

7. Find the monopolist’s profit maximizing price and output combination.

8. Suppose instead that the firm behaved competitively. What would its output and price be? (Remember how you can use the marginal cost function as a supply function)

9. What is then the deadweight loss due to monopoly?

10. Describe what would happen in this case if the government were to place a $5 tax on the product in the case of competition and in the case of monopoly. 

11.  Further, describe what would happen if the monopolist could engage in perfect price discrimination. That is, describe producers’ surplus, consumers’ surplus, and deadweight loss in this case. 
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